

Then

$$\text{Hom}(\pi \otimes N, X) \xrightarrow{\cong} \text{Hom}(\pi, \text{Hom}(N, X))$$

$$S(\varphi)(\pi)(N) = \varphi(\pi \otimes N)$$

$$S'(\psi)(\pi \otimes N) = \psi(\pi)(N)$$

Claim: The tensor product is left exact

$$\pi' \otimes X \rightarrow \pi \otimes X \rightarrow \pi'' \otimes X \rightarrow 0$$

$$0 \rightarrow \text{Hom}(\pi'' \otimes X, E) \rightarrow \text{Hom}(\pi \otimes X, E) \rightarrow \text{Hom}(\pi' \otimes X, E)$$

$$\text{Hom}(\pi', \text{Hom}(X, E)) \rightarrow \dots$$

$$0 \rightarrow (\pi'', E) \rightarrow (\pi, E) \rightarrow (\pi', E) \rightarrow 0$$

$$\begin{array}{ccccc}
 \mathbb{R}^{n_1} & \xrightarrow{\alpha} & \mathbb{R}^{n_0} & \longrightarrow & M \longrightarrow 0 \\
 & & \downarrow \gamma & & \downarrow \gamma' \\
 \mathbb{R}^{k_1} & \xrightarrow{\beta} & \mathbb{R}^{k_0} & \longrightarrow & N \longrightarrow 0
 \end{array}$$

$$\ker \gamma \alpha \subseteq \ker \beta$$

Ex  $R = k[x, y, z]$

$$\begin{array}{ccccc}
 \mathbb{R}^2 & \xrightarrow{\begin{bmatrix} x & y \\ y & z \end{bmatrix}} & \mathbb{R}^2 & \longrightarrow & M \longrightarrow 0 \\
 & & \downarrow \gamma & & \downarrow \gamma' \\
 \mathbb{R} & \xrightarrow{\langle y \rangle} & \mathbb{R} & \longrightarrow & N
 \end{array}$$

$$\gamma(x\varepsilon_1 + y\varepsilon_2) \in \ker \langle y \rangle$$

$$\gamma(z\varepsilon_1 + z\varepsilon_2) \in \ker \langle y \rangle$$

$$x\gamma(\varepsilon_1) + y\gamma(\varepsilon_2) \in R \langle y \rangle$$

$$y\gamma(\varepsilon_1) + z\gamma(\varepsilon_2) \in R \langle y \rangle$$

$$x \delta(\varepsilon_1) \in R \langle \varepsilon \rangle$$

$$x \delta(\varepsilon_2) \in R \langle \varepsilon \rangle$$

$$\therefore \delta' = 0$$

$$R \xrightarrow{[\quad]} R^{a_0} \otimes R^{b_0} \rightarrow M \otimes N \rightarrow 0$$

$$a \in \alpha(R^{a_0})$$

$$a \otimes r \mapsto 0$$

$$L \in \ker \alpha$$

$$r \otimes L \mapsto 0$$